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int factorial (int n) /* header */

{ /* body starts here */
int 1, product = 1;
for (i = 2; 1 <= n; ++1)

product *= 1;

return product;
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void wrt address (void) {

printf ("%$s\n%s\n%$s\n%s\n%s\n\n",
" *********************"’

" **  SANTA CLAUS LAl
" *%  NORTH POLE LAl
" *%  EARTH a

’

n *********************");

J
. B

for(1=0; 1<3; ++1)
wrt_address();
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. int main()

{ j» int sum(int a, int b) ]
j int a=10, b=20; o
. g int res;

g2l 2& ! ) sum(a, b); | res=a+b;

return res;
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int main() ¢
i H . . . | Y
L wss)i  int sum(int a, int b)
int a=10, b=20; oA
: int res;
\ A |
0| S & E ) Sum(a’ b); @(‘ i res=a+b; s
; return res; < ol 2[E
) .
' J

w
- 7t 2|EStE A2 SAE|0 HAZ7|HSZH| MEEIH, o] &2
[} 2 X{ESIX| o™ HE{X| B2 CI2 Ha0f X{Zo| A AL BHCt,

int res;  //sum 57 FHdhe ol ntFO|EE nty WS At
res = sum(10, 20); // sum &7} Esh= 23S 233}
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void northing(void) { } /* this function does nothing */

double twice(double x)
{

b

return (2.0 * x);

int all_add(int a, int b)

{ [F{y =SE B 75/
int ¢ J* Ao gk x/
return( a + b +c); J* HLE A1 return */
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all _add(int a, int b) [* et HO| MEF JHs */
t {22 HE TH5/
int C; /5 MO TSk
return( a + b +c¢); /* HAZ 0t return */
¥
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/* a is external and
initialized to 33 */

int main (void)

{

int b = 77; /* b is local to main ()
printf ("a = %d\n", a); /* a is global to
main () */

printf ("b = $d\n", Db);

return 0;

*/
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return;

return expression;
- Of

return;

return ++a;

return (a * b);



return i; /* value returned will be converted to a
float */

b



e U
return & Of| |

double absolute value(double x)
{
if (x >= 0.0)
return x;
else
return -x;
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- type function_name(parameter type list);
- parameter type list 0| Al A1 E X2 AFE 2 &M
void f(char c, int 1);

void f(char, int);

a
rot

- 7t QK= parameter type list & ... 2 &

printf(const char *, ...)
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int GetSum(int from, int to) ——— int GetSum(int from

{

~

int i;
int sum = 0;
for (i = fromii<=tosi++) { | _____________ - =

sum += i; r > XM= Mefstt,
}
return sum;

} -~
st Moj2 B4 2

int to);)
T

NIDIZE
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#include <stdio.h>
#define N 7
void prn_heading(void)
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void prn_tbl_of powers(int n)

int main(void)
{
prn_heading()
prn_tbl_of powers(N)
return oO;

b
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#finclude <stdio.h> int test(int c)
int test (int): {
int main (void) c =c + 10;
{ return 1;
int b, a; }
a = 5; int printf( . . . )
b = test(a); {

printf ("test is %d", Db);

return 0; }
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#include <stdio.h> int test(int c)

int test (int) ; {

int main (void) c =c + 10;

{ return 1;
int b, a; }
a = 5; int printf( . . . )
b = test(a); {

printf ("test is %d", b);

return 0O; }
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#include <stdio.h> int test(int c)

int test (int) ; {

int main (void) c =c¢c + 10;

{ return 1;
int b, a; }
a = 5; int printf( . . . )
b = test(a); {

printf ("test is %d", b);

return 0O; }
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#include <stdio.h> int test(int c)

int test (int) ; {

int main (void) c =c + 10;

{ return 1;
int b, a; }
a = 5; int printf( . . . )
b = test(a); {

printf ("test is %d", b);

return 0O; }
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#include <stdio.h> int test(int c)

int test (int) ; {

int main (void) c =c + 10;

{ return 1;
int b, a; }
a = 5; int printf( . . . )
b = test(a); {

printf ("test is %d", b);

return 0O; }
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#include <stdio.h> int test(int c)

int test (int) ; {

int main (void) c =c + 10;

{ return 1;
int b, a; }
a = 5; int printf( . . . )
b = test(a); {

printf ("test is %d", Db):;

return 0O; }
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#include <stdio.h> int test(int c)

int test (int) ; {

int main (void) c =c + 10;

{ return 1;
int b, a; }
a = 5; int printf( . . . )
b = test(a); {

printf ("test is %d", b);

return 0O; }
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#include <stdio.h> int test(int c)

int test (int) ; {

int main (void) c =c + 10;

{ return 1;
int b, a; }
a = 5; int printf( . . . )
b = test(a); {

printf ("test is %d", b);

return 0; }
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#include <stdio.h>
int square(int n);

int main(void)

{
int result;
result = square(5s);
printf("%d ", result);

b

int square(int n)

{

return(n * n);

b
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#include <stdio.h>
int get_max(int x, int y);

int main(void)

{
int a, b;
printf("SIHS =5 E0tAI2:");
scanf("%d %d", &a, &b);
printf("S== SUH A 2 == %d LICL.", get_max(a, b));
return 0;
}
int get_max(int x, inty)
{

if( x >y ) return(x);
else return(y);
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#include <stdio.h>

int compute sum(int n);

int main(void) {
int n = 3, sum;
printf ("$d\n", n); // 3 1is printed
sum = compute sum(n);
printf ("$d\n", n); // 3 is printed
printf ("%$d\n", sum); // 6 is printed

return 0O;

}

int compute sum(int n){ //sum the integers from 1 to n

int sum = 0;
for ( ; n > 0; --n) //stored value of n is changed

sum += n;
return sum;
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1 #include <stdio, h>
2 zstdioh= &4 27 Ctrl=Shift+G ‘

3 int GetSum{i| © ==y 9 =HE L Chrl=.

= 7122 o 72| o mUo| 2 Lbx|0f QUL AHESIAXL St &7t
A& ollE] oYU S = oA 7{OF S}

printf, scanf, puts
getch, cprintf, kbhit

atoi, itoa, malloc, free

sin, cos, log

strcpy, strlen
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graphic.h graphic.c graphic.obj
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sound.h sound.c @ > Game.exe
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« pgm.h ot printf("%s",
#include <stdio.h> "This program does not do very
#include <stdlib.h> much.#n"
#define N 3 "Do you want more information? ");
void fct1(int k); scanf(" %c", &ans);
void fct2(void); if (ans =="y' || ans =="Y")
void prn_info(char *); prn_info("pgm”);
. main.c It for (i =0;1 < n; ++1i)
, fct1(i);
#incl " .h"
: ne uc.zle pgm printf("Bye!¥n");
int main(void){
return O;

char ans;
int I, n=n;




o fct.c Lt
#include "pgm.h"
void fct1(int n){
int I
printf("Hello from fct1()¥n");
for (i=0;i < n; ++i)
fct2();

}
void fct2(void){

printf("Hello from fct2()Wn");
}

e wrt.c I}
#include "pgm.h"
void prn_info(char *pgm_name)
{
printf("Usage:%sWn¥#n", pgm_name);
printf("%sWn",

"This program illustrates how one
can write a program#n");

}



{

int a = 2; /* outer block a */

printf ("%d\n", a); /* 2 1is printed */
{
int a = 5; /* inner block a */
printf ("%d\n", a); /* 5 1s printed */
} /* back to the outer block */

printf ($d\n", ++a); /* 3 1s printed */
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int a=1, b =2, ¢ = 3;

printf ("%$3d%3d%3d\n", a, b, c); // 1 2 3
{
int b = 4;
float ¢ = 5.0;
printf ("$3d%3d%5.1f\n", a, b, c); // 1 4 5.0
a = b;
{
int C;
c = b;
printf ("$3d%3d%3d\n", a, b, c); // 4 4 4

}
printf ("%$3d%3d%5.1f\n", a, b, c);// 4 4 5.0

}
printf ("%$3d%3d%3d\n", a, b, c); // 4 2 3



/* inner block 1 */
b;
/* int a is known, but not int b */

/* inner block 2 */
ay
/* int b is known, but not int a */
/* nothing in inner block 1 in known */
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stack stack

push -
y 88 top —> 1
y 88
top — !
X 35 X 35
push S=t
stack stack
POop
top —
y 88
top —
X 35 X 35

pop &
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+ At-&(auto), 2| F(extern), 2| K| 2 E (register) 8 & (static)
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int main(void)

{

= 0;

auto int sum

= 0;

int i
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extern int z;

main(){
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int x
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int z=10;
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#include <stdion.h>

int a=1, b =2, ¢c = 3; /* global variables */
/* or extern int a=1,b=2, c=3; */
int f (void) ; /* function prototype */
int main (void) {

printf ("%$3d\n", f£()); J* 12 */

printf ("$3d%3d%3d\n", a, b, c¢); /* 4 2 3 */
return 0O;
}
int £ (void) {
int b, C; /* b and ¢ are local */
a =Db =c = 4;
return (a + b + ¢);
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register int i;
for(i = 0;i < 100; i++)
sum += i;
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#include <stdio.h>

void sub(void);
int main(void)
{
int i;
for(i = 0;i< 3; i++)
sub():
return O;
) 2N
void sub(void)
{
int auto_count = O;
static int static_count = O;
auto_count++;
static_count++;
printf("auto_count=%d\n", auto_count);
printf("static_count=%d\n", static_count);
}

1
e
>

AR RIY HHAEM
staticS 2ol RIQY BHATH
AR HAE R

auto_count=1
static_count=1
auto_count=1
static_count=2
auto_count=1
static_count=3
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fdefine  INITIAL SEED 17

#define MULTIPLIER 25173
#define INCREMENT 13849
#define MODULUS 65536
#define FLOATING MODULUS ©5536.0

static unsigned seed = INITIAL SEED; /* external */
/* but private to this file */
unsigned random (void)
{ seed = (MULTIPLIER * seed + INCREMENT) % MODULUS;
return seed;

\

}
double probability(void)

{ seed = (MULTIPLIER * seed + INCREMENT) % MODULUS;
return (seed / FLOATING MODULUS) ;

\

}



)
static int g(void)

void f(int a)

ooooooo

static int g(void)
{

; /*function prototype*/

/*function definition*/

/* 80 is available here, but not in other files */

/*function definition*/
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int sum(int n) {
if (n <= 1)

return n; /x 7| 2&0l A */
else /x LHFEO|l AL «/

return (n + sum(n - 1)),

}

- ?| X DEO| A= n= ALESHY F B3R E HE
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HE ElEn_-l
FL|H LMol AL
- nO| A 12 WO X 2Z ==> nOf|A] 12 7| I 20| HAF VI nS 1L}
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// SO fromOf| &0 U= n7i 2| HEHS ZCH tmpE AFESHY U to2 FZICH
void hanoi_tower(int n, char from, char tmp, char to)

{
if(n==1)
{
fromO| A to2 TS & ZICt
¥
else
{
fromOi| Y= ot o] R}ES to=2 R ZICE.
¥
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